right| [fb]

a1
o
o

ellell

do / d leftly

Ratio to ATLAS

400

300

200

100

0.5

13000 GeV pp WW
I A T - T T ]
B y! (ATLAS Ww) _
| m ATLAS _|
— —&— Pythia 8.308 default 7
B Pythia 8.308 tune-1 ]
L Pythia 8.308 tune-2c¢ _|
— Pythia 8.308 tune-2m —
[ = _
[ s " o= | |
L = - _
B m _
— U W . p—
N e . __

Al\
L = _
L — m _
| | [ | | [ | | | | — |
:l T T T T | T T T T | T T :
— / e e g g = = ]
| ‘TA 1 " 1 1 1 | " 1 1 1 1 | " 1 " 1
0 1 2 _
leftly right|

ellell

Rivet 3.1.10, = 2.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


